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1. Choose the correct answer from the
following : 1x8=8
(a) What did Gandhiji mean by ‘Swaraj’?
(i) Self-rule
(i) Self-respect
(i) Self-sufficiency
(iv) All of the above
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2)

() Who wrote the book, Annihilation of
Caste?
() B.R. Ambedkar
(i) K. Marx.
(i) E. Durkheim
(iv) T. N. Madan

() Who first used the concept of dominant
caste?
(i) Ambedkar
(i) Srinivas
(iij) Risley
(iv) T. N. Madan
(d) What is the full form of KPLT?
(i) Karbi People’s Liberation Tiger
(iij) Karbi People’s Left Tiger
(i) Karbi People’s Front of Liberation
Tiger
(iv) None of the above
(e) In which year was Karbi Autonomous
Council’ formed?
(i) 1955
(i) 1956
(i) 1958
(iv) None of the above
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(3)

() Dalit Buddhist Movement was started in
i) 1947 '
(i) 1956
(iii) 1950
(iv) None of the above

(g) Deccan Riots was started in
{) Assam 5
_ () Maharashtra
(i) Delhi
(iv) None of the above .

() Who introduced Divide and Rule Policy
in India? :
(i) British
(i) Christian Missionary
(i) Ahom
(iv) None of the above

2. Write notes on/Answer any four of the
following (within 150 words each) : 4x4=16

(a) Basic characteristics of Secularism

() What is the main theme of Women
Movement?
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(4)

(¢ What is Gram Swaraj?
(d) Mobility and Caste System
(e) Discuss about Assam Movement.
() Religion and Politics

3. Answer any four of the folloWing questions
(within 500 words each) :- 14x4=56
(a) Define Nationalism. What are the

(b)

(c)

(d)

(e)

characteristics of nationalism? 4+10=14 .

What is Ethnic Movement? Discuss the
reasons of ethnic movements in India. 14

Discus's few works of M N. Srinivas on

Indian Society. 14
Discuss about Dalit Movement initiated

by B. R. Ambedkar. 14

Define Communalism. Discuss various
characteristics of communalism. 4+10=14

What is Rural Urbanization? Discuss
with the help of G. S. Ghurye’s analysis.
' 4+10=14
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